Potencias de 10 (E)

5.5794 +0.001

3.83+0.001

9.1208 =-0.001

1.9912 +-0.001

2.1906 +0.001

3.3702 +-0.001

9.5183 +-0.001

8.5767 +0.001

6.844 +0.001

8.8654 = 0.001

Calcule los siguientes cocientes.

9.9961 +0.001

9.6695 -+-0.001

3.305+-0.001

9.2775-+0.001

2.3779+-0.001

3.2035-+-0.001

6.9798 +0.001

3.5426 +0.001

8.7313 +-0.001

9.9307-+-0.001
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Potencias de 10 (E) Respuestas

5.5794 +0.001
5,579.4
3.83 -0.001
3,830
9.1208 = 0.001
9,120.8
1.9912 +0.001
1,991.2
2.1906 < 0.001
2,190.6
3.3702 +0.001
3,370.2
9.5183 = 0.001
9,518.3
8.5767 = 0.001
8,576.7
6.844 +0.001
6,844
8.8654 +0.001
8,865.4

Calcule los siguientes cocientes.

9.9961 +0.001
9,996.1
9.6695 +0.001
9,669.5
3.305=0.001
3,305
9.2775 +0.001
9,277.5
2.3779 +0.001
2,377.9
3.2035 +0.001
3,203.5
6.9798 = 0.001
6,979.8
3.5426 +0.001
3,542.6
8.7313+0.001
8,731.3
9.9307 +0.001
9,930.7
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